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(iv) Calculate post merger MPS, if post merger P,
ratio 1s 12 times.

(v) Impact on MPS due to merger.
(vi) Calculate market value of A Ltd. after merge

(vii) Impact on market value due to merger
shareholder.

(viii)Calculate Swap ratio, So that EPS of A Ltd.
before merger & after merger same.

(ix) Calculate swap ratio, So that EPS of B Ltd.
Shareholders before merger & after merger
should be same.
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OUESTION - 03

ABC Ltd. is a company operating in the software
industry. It is considering the acquisition of XYZ Ltd.
which is also into software industry. The following
information are available for the companies:

ABC Ltd. | XYZ Ltd.
Earnings after tax (X) 9,00,000| 2,40,000
Number of equity shares 1,50,000 60,000
P/E ratio (no. of times) 14 10

ABC Ltd. is planning to offer a premium of 25% over
the market price of XYZ Ltd. Required:

(1) What is the swap ratio based on current market
price?

(11) Find the number of shares to be issued by ABC
Ltd. to the shareholders of XYZ Ltd.

(11) Compute the new EPS of ABC Ltd. after merger
and comment on the impact of merger.

(iv) Determine the market price of the share when
P/E ratio remains unchanged.
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(v) Compute the market price when P/E declines to

12 and comment on the results. Figures are to be

rounded off to 2 decimals. No I 60000 d\m KO- G
Exam November - 2019
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OUESTION - 04

B Ltd. Wants to acquire S Ltd. and has offered a swap
ratio of 2:3 (2 shares for every 3 share of S Ltd.).
Following information is available:

Particulars B Ltd. S Ltd.
Profit after tax (in X) 21,00,0004,50,000
Equity shares outstanding (Nos.) 6,00,000(1,80,000
EPS (X) 3.5 2.5
PE Ratio 10 times| 7 times
Price quoting per share on BSE
before the merger announcement () 35.00 17.50

Required:

(1) The number of equity shares to be issued by B
Ltd. for acquisition of S Ltd.

(11) What 1s the EPS of B Ltd. after the acquisition?

(111) Determine the equivalent earnings per share of

S Ltd. and calculate per share gain or loss to
shareholders of S Ltd.

(1iv)What 1s the expected market price per share of B
Ltd. after the acquisition, assuming its PE Multiple
remains unchanged?

(v) Determine the market value of the merged firm.



@) Yk Moger mPs
(vi)After the announcement of merger, price of

shares of S Ltd. rose by 10% on BSE. Mr. X, an
investor, having 10,000 shares of S Ltd. is having fmt W b’lrs - 3' 5" x |0

another investment opportunity, which vyields - ; 35. Llo

annual return of 14% 1s seeking your advice
whether he needs to offload the shares in the @ 0)\ P t VM -f]ji?
market or accept the shares from B Ltd.
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OUESTION - 05
Cauliflower Limited is contemplating acquisition of
Cabbage Limited. Cauliflower Limited has 5 lakh

: —r—y
shares having market value of X 40 per share while

Cabbage Limited has 3 lakh sha-w-s_];aving market
value of X 235_per share. The EPS for Cabbage
Limited and Cauliflower Limited are X 3 per share
and X 5 per share respectively. The managements of
both the companies are discussing two alternatives
for exchange of shares as follows:

@In proportion to relative Farmngs per shar} of the

two compames

are of Cauliflower Limited for two shares of
——

Cabbage Limited. 0 (

Required:

(a) Calculate the EPS after merger under both the
alternatives.

(b)Show the impact on EPS for the shareholders of
R —

the two companies under both the alternatives.
(PM & RTP November - 2021)
(Page No. 11)



a listed company, is considering merger

. which is also a listed company, with itself by
means of a stock swa exchange) B Litd. has agreed

to a plan under which A Ltd. affer the current
market value of B Ltd.'s shares
Q@w Additional Information: \ %
S Particulars }l Ltd. - 22 Qb

Earnings after tax () 10,00,000/( 2
Number of shares outstanding 4,00,000

Current market price (X) per share

On the basis of above information, you are required
to calculate the following:

./ﬂ{ What is the pre-merger Earnings per Share (EPS)
and P/E ratio of both the companies?

(i1) If B Ltd.'s P/E is 10, what is its current market
price per share? What is the exchange ratio?
What will A Ltd.'s post-merger EPS be?

ﬁ

(11) What must the exchange be for A Ltd.'s Pre-

merger and Post-merger EPPto be the same?

(Exam November - 2019) (Page No. 15)



TION - 14
s considering acquiring

following information is available:

Company | Earning after| No.o

Tax (X) E Equity
Shares

)/ MKLtd.{ ~60,00,000|_12,00,000
@ NN Ltd. J°  18,00,000] \3,00,000

Exchange of equity shares for acquisition is based
on (current market value as abgve) There 1s no
synergy advantage available.

QQ_S(D are for company MK Ltd.
- |20-

e (11) Find the exchange ratio so that §hareholders of

NN Ltd. would not be at @EPS\L

(SM, PM & MTP October — 2020)
(Page No. 28)




UESTION - 15

ABC Ltd. 1s intending to acquir ' by merger
and the following information i1s available 1n respect
of the companies: vm ‘E
ABC Ltd.  XYZ Ltd.
Number of equity shares 10,00,000| 6,00,000
Earnings after tax (X) 50,00,000( 18,00,000
Market value per share (X) 42 28

. Required: e l£ 8 §|-O q %3

v”(i) What is the present EPS of both the companies?

« (11) If the proposed merger takes place, what would
be the new earning per share for ABC Ltd.?

Assume that the merger takes place by exchange

of equity shares and the exchange ratio 1s based
on the current '
@ 1) What should be exchange ratio, if XYZ Ltd. wants

to ensure the Earnings!to members are same as

before the merger takes place?

(Study Materials & PM)
(Page No. 29)



OUESTION - 117

A Ltd. wants to acquire T Ltd. and has offered a swap
ratio of 1:2 (0.5 shares for every one share of T Ltd.).

Following information 1s provided:

A Ltd. T. Ltd.
Profit after tax X18,00,000/| %3,60,000
Equity shares outstanding (Nos.) 6,00,000| 1,80,000
EPS 33 X2
PE Ratio 10 times| 7 times
Market price per share 30 X14

Required:

(1) The number of equity shares to be issued by A
Ltd. for acquisition of T Ltd.

(11) What is the EPS of A Ltd. after the acquisition?

(111) Determine the equivalent earnings per share of T
Ltd.

(1v) What 1s the expected market price per share of
A Ltd. after the acquisition, assuming its PE
multiple remains unchanged?

(v) Determine the market value of the merged firm.

(Study Materials & PM) (Page No. 32)



QUESTION - 18

Alfa Ltd. wants to acquire Beta Ltd. and has offered a
swap ratio of 1:2 (0.5 shares for every one share of Beta

Ltd.) Following information is provided:

Market price per share (X)

Alfa Ltd. |Beta Ltd.

Profit after tax (X) 18,00,000| 3,60,000
Equity shares outstanding (Nos.) 6,00,000| 1,80,000
EPS (X) 3 2
PE Ratio 10 times| 7 times
30 14

(1) You are required to determine:

(a) The number of equity shares to be issued by Alfa

Ltd. for acquisition of Beta Ltd.

(b) The E

S of Alfa Ltd. after the acquisition.

(c) The equivalent earnings per share of Beta Ltd.

(d)The expected market price per share of Alfa Ltd. *

after the acquisition, if PE increases to 12 times.

(e) The market value of the merged firm.

(11) If you are the shareholder of Beta Ltd. and holding 100
shares, will you be interested to sell your stake? Why?

(Exam Nov-2022)
(Page No. 33)
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OUESTION-19

The following information is provided related to the
acquiring Firm Mark Limited and the target Firm

Mask Limited:
Firmm Mark | Firm Mask
Limited Limited
Earning after tax (X) 2,000 lakhs 400 lakhs
Number of shares outstanding | 200 lakhs 100 lakhs
P/E ratio (times) 10 5
Required.:
(1) What 1s the Swap Ratio based on current market
. _—————

prices?

=
(i1) What is the EPS of Mark Limited after acquisition?

(11) What 1s the expected market price per share of
ossssssssssss———"/]b

Mark Limited after acquisition, assuming P/E
ratio of Mark Limited remains unchanged?

fiv) Determine thof the merged firm.

'
(v) Calculate gain/loss for shareholders of the two
independent companies after acquisition

(Study Materials & PM) (Page No. 35)



OUESTION - 20

XYZ Ltd. wants to purchase ABC Ltd. by exchanging
O.T.pf 1ts share for each share of ABC Ltd. Relevant

financial data are as follows: W 2 a B C

Equity shares outstanding |10,00,000 |4,00,000
EPS (X) 40 28

Market price per share (%)

(1) Illustrate the impact of merger on EPS of both the
companies.

(11) The management of ABC Ltd. has quoted a share
excha ratio of 1:1 for the merger. Assuming
ﬂp that é/’E ra&' of XYZ Ltd. will remain unchanged

after the mesger, what will be the gain from
@

Mhat will be the gain/loss to shareholders @

Ltd.?

Ev) Determine the maximum _exchange ratio
acceptable to shareholders of

(SM, Exam November - 2019 & Exam December -
2021)

(Page No. 37)



QUESTION - 21
XYZ Ltd., 1s considering merger with ABC Ltd. XYZ
Ltd.’s shares are currently traded at X 20. It has

2,50,000 shares outstanding and its earnings after
taxes (EAT) amount to X 5,00,000. ABC Ltd., has

1,25,000 shares outstanding; its current market price
1s X 10 and its EAT are X 1,25,000. The merger will be

effected by means of a stock swap (exchange).

ABC Ltd., has agreed to a plan under which XYZ Ltd.,
will offer the current market value of ABC Ltd.’s
shares:

(1) What 1s the pre-merger earnings per share (EPS)
and P/E ratios of both the companies?

(11) If ABC Ltd.’s P/E ratio is 6.4, what is its current
market price? What is the exchange ratio? What
will XYZ Ltd.’s post-merger EPS be?

(111) What should be the exchange ratio; if XYZ Ltd.’s
pre-merger and post-merger EPS are to be the
same?

(Study Material & PM)
(Page No. 39)



OUESTION - 22
Following 1nformation 1s provided relating to the

acquiring company Mani Ltd. and the target company
Ratnam Ltd:

Mani Ltd. Ratnam Ltd.

Earnings after tax (X lakhs) 2,000 4,000
No. of shares outstanding (lakhs) 200 1,000
P/E ratio (No. of times) S
Required:

(1) What 1s the swap ratio based on current market
N
prices?

(1) What 1s the EPS of Mani Ltd. after the acquisition?

(111) What 1s the e&ected market price per share of Mani

Ltd. after the acquisition, assuming its P/E ratio 1is
adversely affected Ly 1Q707? ﬂ

(1v) Determine the m of the merged Co.

(v) Calculate gain/loss for the shareholders of the two
independent entities, due to the merger.

(SM, RTP - November - 2019)
(Page No. 40)




OUESTION - 23

You have been provided the following Financial data
of two companies:

Krishna | Rama Ltd.

Ltd.
Earnings after taxes X 7,00,000|% 10,00,000
No. of Equity shares(outstanding) | 2,00,000| 4,00,000
EPS 3.5 2.5
P/E ratio 10 times 14 times
Market price per share X35 X35

Company Rama Ltd. i1s acquiring the company
Krishna Ltd., exchanging its shares on a one-to-one
basis for company Krishna Ltd. The exchange ratio is
based on the market prices of the shares of the two
companies.

Required:
(1) What will be the EPS subsequent to merger?

(i1)) What is the change in EPS for the shareholders of
companies Rama Ltd. and Krishna Ltd.?

(ii1)Determine the market value of the post-merger
firm. PE ratio is likely to remain the same.



(1v) Ascertain the _profits gccruing to shareholders of

both the companies.
S

(Study Material & PM)
(Page No. 42)



OUESTION - 24

M Co. Ltd. 1s studying the possible acquisition of N
Co. Ltd., by way of merger. The following data are
avallable in respect of the companies:

Particulars M Co. Ltd. |N Co. Ltd.
Earnings after tax (X) 80,00,000( 24,00,000
No. of equity shares 16,00,000| 4,00,000
Market value per share (X) 200 160

(1) If the merger goes through by exchange of
e exchange ratio is based on the

, what is the new _garning per

share for M Co. Ltd.?

(11)) N Co. Ltd. wants to be sure tha

available to 1its shareholders will not be
“

diminished by the merger. What should be the
exchange ratio in that case?

(Study Material & PM)
(Page No. 44)
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OUESTION -10

R Ltd. and S Ltd. are companies that operate in the
same i1ndustry. The financial statements of both the
companies for the current financial year are as
follows:

Balance Sheet

Particulars R. Ltd. (X) | S. Ltd (X)
Equity & Liabilities
Shareholders Fund 1 .56
Equity Capital (X 10 each) 20,00,000( 16,00,000 20
Retained earnings 4,00,000
Non-current Liabilities l 2 . 8 2
16% Long term Debt 10,00,000| 6,00,000
Current Liabilities 14.00,000| 8.00.000 leaom
Total 48,00,000/30,00,000 o
Assets le 0 60
Non-current Assets 20,00,000( 10,00,000 ? I 0
Current Assets 28.00,000 | 20,00.000
Total 48.00.000(30.00.000

15 sf



Particulars R. Ltd. (3)|S. Ltd. (%) @ G"mﬁ’"l Sq-l-e
A. |Net Sales 69,00,000| 34,00,000
B. |Cost of Goods sold 55.20.000| 27,20.000 = Q%L
C. | Gross Profit (A-B) 13,80,000 6,80,00
D. |Operating Expenses 4,00,000| 2,00,000 R‘-H G‘f'q
E. |Interest 1.60.000 96.000 — —
F. |Earnings before taxes 8,20,000| 3,84,000 KO E (h) 29 .72 ( 0/° '5' . G%
[C-(D + E)] , . .
G.|Taxes @ 35% 2,87,000| 1,34,400 DIP 60"70 2107 38 /-
H. |Earnings After Tax 5,33,000| 2,49,600 M‘ w ?o-/'
e b (1-oph*) 8073

°
Additional Information: - l?_ ?? % ' 0. 9.2 /D
No. of equity shares 2,00,000 1,60,000 d'

Dividend payment Ratio (D/P) 20% 30%

Market price per share X 50 X20

Assume that both companies are in the process of
negotiating a merger through exchange of Equity
shares:



You are required to: . o o E’
_ . @ Max mum £ l‘_'!lllmuq t’m ©
(1) Decompose the share price of both the

companies into EPS & P/E components. Also ﬁ E h a-k’- o

segregate their EPS figures into Return On Equity Q ”}Un.l

(ROE) and Book Value/Intrinsic Val h —_ .
CDmpoix;ntS.on alue/Intrinsic Value per share L \Q (f' q % 07,&??_? S G‘q %_ Sﬁw & ﬁmc ©
(ii)Estimate future EPS growth rates for both the %‘ 25 é l‘%‘ ﬁ (l"‘*{ QR%’- mf "77- g} 2'1

companies.

(in)Based on expected operating synergies, R Ltd. P]q/x!ﬂ)(/ﬂz E)@qﬁﬁqﬁaﬁo - ﬂé—_ -0 5 ) ,

estimated that the intrinsic value of S Ltd. Equity Q5O

share would be X 25 per share on its acquisition. 0

You are required to develop a range of justifiable _MMMM

Equity Share Exchange ratios that can be offered # a-&;p']
by R Ltd. to the shareholders of S Ltd. Based on l. ﬁw %’-ﬂ 1& M'PS W’T

your analysis on parts (1) and (1), would you

expect the negotiated terms to be closer to the r1|n, Mﬂl EXA\“ ﬁq{fo ~ -—;—g— - 0 "f _l

upper or the lower exchange ratio limits and

(Study Material & PM) | Sif\ce EPS; f’lE Rq‘,(‘ol ROE Q(Wl"\ R“{( Okv
(Page No. 19) fffﬁ ’-‘ MoA Han 80‘:‘ 4‘0”@ Nega\qu(f
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ESTI -11
BA Ltd. and DA Ltd. both the companies operate in
the same industry. The Financial statements of both
the companies for the current financial year are as

follows:
Balance Sheet

Particulars BA Ltd. (X) | DA Ltd. ()
Current Assets 14,000,000, 10,00,000
Fixed Assets (Net) 10,00,000 5.00.000
Total (X) 24.00,000( 15.00,000
Equity capital (X10 each) 10,00,000 8,00,000
Retained earnings 2,00,000 -
14% long-term debt 5,00,000 3,00,00
Current liabilities 7.00,000 4.00.000
Total (%) 24.00,000, 15.,00,000

Income Statement

Particulars BA Ltd. | DA Ltd.
) )

Net Sales 34,50,000(17,00,000
Cost of Goods sold 27.60.000(13.60.000
Gross profit 6,90,000| 3,40,000




Operating expenses 2,00,000| 1,00,000
Interest 70,000 42,000
Earnings before taxes 4,20,000| 1,98,00
Taxes @ 50% 2,10,000| 99.000
Earnings after taxes (EAT) 2,10.000f 99.000
Additional Information :

No. of Equity shares 1,00,000 80,000
Dividend payment ratio (D/P) 40% 60%
Market price per share x40 X15

Assume that both companies are in the process of
negotiating a merger through an exchange of equity
shares. You have been asked to assist in establishing
equitable exchange terms and are required to:

A1) Decompose the share price of both the
companies into EPS and P/E components; and
also segregate their EPS figures into Return on
Equity (ROE) and book value/intrinsic value per
share components.

u(‘ﬁfEstimate future EPS growth rates for each
company.

(1i1)Based on expected operating synergies BA Ltd.
estimates that the intrinsic value of DA’s equity



share would be X 20 per share on 1its acquisition.
You are required to develop a range of justifiable
equity share exchange ratios that can be offered
by BA Ltd. to the shareholders of DA Ltd. Based
on your analysis in part (1) and (11), would you
expect the negotiated terms to be closer to the
upper, or the lower exchange ratio limits and

why? ..r 1 C\—
alculate the posigpnerger EPS basfd oh an
exchange ratio of O being offered by BA Ltd.
and indicate the mediate( EPS accretion or

dilutioy if any, that will occur for each group of
shareholders.

@Based on a 0.4: 1 exchange ratio and assuming
that BA Ltd.’s pre-merger P/E ratio will continue
after the merger, estimate the post-merger
market Erice. Also show the resulting accretion
or dilution in pre-merger market prices.

(SM, PM & Exam January — 2021)
(Page No. 21)




ESTI -12
The following are the financial statements of A Ltd.,
and B Ltd. for the financial year ended 31°' March,
2020. Both the companies are working in the same
industry.

Balance Sheets (X)
Particulars A Ltd. B Ltd.
Total Current Assets 15,00,000 12,00,000
Total Net Fixed Assets 12,00,000 6,00,000
Total Assets 27,000,000 18,00,000
Equity Capital
(Face Value X 10) 10,00,000 8,00,000
Retained Earnings 3,00,000 ---
14% Long Term Debt 7,00,000 5,00,000
Total Current Inabilities 7,00,000 5,00,000
Total Liabilities 27,00,000 18,00,000



Income Statement (X)

Particulars A Ltd. B Ltd.
Net Sales 33,10,000 16,60,000
Gross Profit 6,90,000 3,40,000
Operating Expenses 2,00,000 1,00,000
Interest 98,000 70,000
EBT 3,92,000 1,70,000
Tax @ 30% 1,17,600 51,000
PAT 2,714,400 1,19,000
Additional information :

Dividend Pay-out Ratio 40% 60%
Market Price per Share 40 15

You are required to calculate:

(1) Earnings Per share (EPS), Profit Earning Ratio
(PER), Return on Equity (ROE) and Book Value
Per Share (BVPS) for both the firms.

(i1) Estimate future EPS growth rate for both the firms.

(11)If on acquisition of B Ltd. by A Ltd., intrinsic value
of B Ltd., will be X 20 per share, develop range of
justifiable Exchange Ratio (ER) that can be
offered by A Ltd., to shareholders of B Ltd.



(1iv)Based on your analysis in (1) and (11) whether the
negotiated ratio will be close to upper or lower

range. Justify.

(v) Post-merger EPS on an ER of 0.4: 1. What will be
immediate accretion or dilution to EPS to the
shareholders of both the firms?

(vi)Post-Merger MPS on the basis of ER0f 0.4 : 1

(Exam ‘an—202 1)

(Page No. 24)



QUESTION - 27

X Ltd. is studying the possible acquisition of Y Ltd. by
way of merger. The following data are available in
respect of both the companies.

Particulars X Ltd. Y Ltd.
Market Capitalization (X) 75,00,000| 90,00,000
Gross Profit Ratio 20% 20% '
Inventory Turnover Ratio 5 times 4 times
Debtor Turnover Ratio 3 times 5 times
12% Debenture (X) 10,00,000 -
10% Debenture (%) -| 14,40,000 6u0 = ; ’_F V(D)
No. of Equity Shares 1,00,000 60,000 ! 500 X 5 5 0
Operating Expenses 86% 18% — -
Cgrporatg TEL}I: Rate 30% 30% 5 Go m A L‘ - ; 2 0 Gom
Closing Stock () 15,00,000| 5,00,0006n
Debtors (%) 10,00,000( 8,00,000

You are required to calculate:

(i) Swap ratio based on EPS & MPS respectively as
weightage of 40% and 60%.

o0 < 93f

(ii) Post Merger EPS 2 Sov Ovb
(1i1)Post Merger market price assuming same PE Ratio of y(‘,-4 __M- %

(iv) Post Merger gain or loss in EPS.
(MTP: May - 2020) (Page No. 49)
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QOUESTION -13
B Ltd. 1s a highly successful company and wishes

to expand by acquiring other firms. Its expected Bq-c’ C(*j

high growth 1n earnings and dividends 1s
1F 10

reflected 1n 1ts PE ratio of 17. The Board of PIE

Directors of B Ltd. has been advised that 1if it

were to take over firms with a lower PE ratio

than 1t own, using a share-for-share exchange, Noo& Sw 5 oom J) anm
then 1t could increase its reported earnings per

share. C Ltd. has been suggested as a possible 6Y) P_g 1 Q_ 15
target for a takeover, which has a PE ratio of 10

and 1,00,000 shares 1n 1ssue with a share price of .
X 15. B Ltd. has 5,00,000 shares 1n 1ssue with a EOJ\W
share price of X 12. El B E! i ngi
Calculate the change 1n earnings per share of B
Ltd. 1if 1t acquires the whole of C Ltd. by 1ssuing

shares at 1ts market price of X12. Assume the E K - flc O"FOG ,' S_

price of B Litd. shares remains constant. ()9 N 0
(SM, PM & RTP November - 2018) '

(Page No. 13) EA‘T
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OUESTION - 16

The CEO of a company thinks that shareholders
always look for EPS. Therefore, he considers
maximization of EPS as his company's objective.
His company's current Net Profits are X 80.00

lakhs and P/E multiple is 10.5. He wants to buy
another firm which has current income of X 15.75

lakhs & P/E multiple of 10.

What 1s the maximum exchange ratio which the
CEO should offer so that he could keep EPS at
the current level, given that the current market
price of both the acquirer and the target
company are X 42 and X 105 respectively?

If the CEO borrows funds at 15% and buys out
Target Company by paying cash, how much
cash should he offer to maintain his EPS? Assume
tax rate of 30%.

(SM, PM & MTP - 2020)
(Page No. 31)
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QOUESTION - 26

T Ltd. and E Ltd. are in the same industry. The former
1s In negotiation for acquisition of the Ilatter.
Important information about the two companies as

per their latest financial statements is given below:

T Ltd. | E Ltd.
X 10 Equity shares outstanding 12 Lakhs | 6 Lakhs
Debt:
10% Debentures (X Lakhs) 980 -
12.5% Institutional Loan (X Lakhs) - 240
Earning before interest, 400.86| 118.71
depreciation and tax (EBIDAT)
(X Lakhs)
Market Price/share (X) 220.00| 110.00

T Ltd. plans to offer a price for E Ltd., business as a

whole which will be 7 times EB!

market price.

E Ltd. 1s planning to seek one share in T Ltd. for
every 2 shares in E Ltd. based on the market price.
Tax rate for the two companies may be assumed as

30%.

DAT reduced by
outstanding debt, to be discharged by own shares at

T Ud oFFERS
@ Net Considerakion baakle

(E RIDAT 7(:‘:) (l\stﬂ‘l“;) = R09 9'-'{
(—-)'DQU'_' = 240-60
R569.9FL
0 No-o e 18suod

NO-G%SHGMJ = EZ?# - 2.53[a|:h&

W) Post Mogek EFS

A
£RIPAT 400-86  §15-FL

) Int- 580D 3o- g0
£8t 342-8¢ 8511

O Taz @307 (0286 25
EA 240 6'0




Lpg = 240+ G0
Calculate and show the following under both ‘FGSII \'flﬁﬂﬂl B 124259 ~ QQO'SG

alternatives - T Ltd.'s offer and E Ltd.'s plan:

(1) Net consideration payable. P G.St. M PS
(ii) No. of shares to be issued by T Ltd. 9|: e qmmeq ‘H\O’ P’E ﬂotl-o ok TH-CI
(11)EPS of T Ltd. after acquisition.

ns
(1v)Expected market price per share of T Ltd. after ne"l n C:L q_q L,‘e
acquisition. 2 T

(v) State briefly the advantages to T Ltd. from the E AT 24'
acquisition. '

Note: Calculations (except EPS) may be rounded off _-' No ok ES -' /3

to 2 decimals 1n lakhs. E F < q- 20

(SM, PM & Exam November — 2018) 220
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Example - 03
A Ltd. want to take over & Ltd.

A Ltd.
No. of shares 1,00,000
Paid up Value X 10
ESC X10,00,000
R&S X 2,00,000
Net worth X12,00,000
(o) o
EPS X5

EAT (EPS X No. of shares) X 5,00,000

P/E Ratio 10 times
MPS (EPS x P/E Ratio) X 50
Market Cap. X 50,00,000

(No. of shares xMPS)
Promoter’s Holding (%) 30%

B Ltd.

40,000
X10

X 4,00,000
X 50,000
X 4,50,000

X11.25

X2
X 80,000

6 times

X 12
X 4,80,000

50%



Promoter’s

Holding (No) 30,000 shares 20,000 shares
Free float market cap (%) 10% 50%
Free float market

cap(shares) 70,000 shares 20,000 shares
Free float market

cap (X) 35,00,000 2,40,000

(1) Calculate Swap Ratio.

(11) Post merger EPS.

(111)Post Merger MPS.

(iv)Market Capitalization of A Ltd. after merger.
(v) Book Value per share after merger.
(vi)Promoter’s holding after merger.

(vi)Free float market capitalization after merger.

(Page No. 83)



QUESTION - 30

The following information relating to the acquiring
Company Abhiman Ltd. and the target Company
Abhishek Ltd. are available. Both the Companies are
promoted by Multinational Company, Trident Ltd.
The promoter’s holding 1s 50% and 60%
respectively in Abhiman Ltd. and Abhishek Ltd.:

Abhiman | Abhishek

Ltd. Ltd.
Share Capital () 200 lakh| 100 lakh
Free Reserve and Surplus (X) 800 lakh| 500 lakh
Paid up Value per share (X) 100 10
Free float Market Capitalization (X) | 400 lakh| 128 lakh
P/E Ratio (times) 10 4

Trident Ltd. 1s interested to do justice to the

shareholders of both the Companies. For

the swap

ratio weights are assigned to different parameters

by the Board of Directors as follows:
Book Value 25%
EPS (Earning per share) 50%
Market Price 25%




(a) What is the swap ratio based on above weights?

(b)What is the Book Value, EPS and expected Market
price of Abhiman Ltd. after acquisition of
Abhishek Ltd. (assuming P.E. ratio of Abhiman
Ltd. remains unchanged and all assets and
liabilities of Abhishek Ltd. are taken over at book
value).

(c) Calculate:

(1) Promoter’s revised holding in the Abhiman
Ltd.

(11) Free float market capitalization.

(in)Also calculate No. of Shares, Earning per
Sshare (EPS) and Book Value (B.V.), if after

acquisition of Abhishek Ltd., Abhiman Ltd.
decided to:

(1) Issue Bonus shares in the ratioof 1 : 2; and

(2) Split the stock (share) as X 5 each fully
paid.

(Study Material & PM)
(Page No. 56)
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QUESTION - 31

Abhiman Ltd. is a subsidiary of Janam Ltd. and is
acquiring Swabhiman Ltd. which is also a subsidiary
of Janam Ltd. The following information is given :

Abhiman |[Swabhiman
Ltd. Ltd.

% Shareholding of promoter 50% 60%
Share capital X200 lacs 100 lacs
Free Reserves and surplus X900 lacs 600 lacs
Paid up value per share 100 10
Free float market capitalization % 500 lacs 156 lacs
Free float market capitalization 10 -

Janam Ltd., is interested in doing justice to both
companies. The following parameters have been
assigned by the Board of Janam Ltd., for determining

the swap ratio:

Book value 25%
Earnings per share 50%

Market price 25%



You are required to compute
(1) The swap ratio.

(11) The Book Value, Earning Per Share and Expected
Market Price of Swabhiman Ltd.,(assuming P/E
Ratio of Abhiman remains the same and all assets
and liabilities of Swabhiman Ltd. are taken over

at book value.)

(Study Material & PM)
(Page No. 59)



QUESTION - 29
The following information is provided relating to the

acquiring company E Ltd., and the target company H
Ltd:

Particulars E Ltd. (X) H Ltd. (X)
Number of shares 20 Lakhs 15 Lakhs
(Face value X 10 each)

Market Capitalization 1000 Lakhs| 1500 Lakhs
P/E Ratio (times) 10.00 5.00
Reserves and surplus in X | 600.00 Lakhs| 330.00 Lakhs
Promoter's Holding 9.50 Lakhs| 10.00 Lakhs
(No. of shares)

The Board of Directors of both the companies have
decided to give a fair deal to the shareholders.
Accordingly, the weights are decided as 40%, 25%
and 35% respectively for earnings (EPS), book value
and market price of share of each company for swap
ratio.

Calculate the following:

(1) Market price per share, earnings per share and
Book Value per share;

(11) Swap ratio;



(ii1) Promoter's holding percentage after acquisition;
(1iv) EPS of E Ltd. after acquisitions of H Ltd;

(v) Expected market price per share and market
capitalization of E Ltd.; after acquisition,
assuming P/E ratio of E Ltd. remains unchanged,;
and

(vi)Free float market capitalization of the merged
firm.

(Study Maternial & PM)
(Page No. 54)



QUESTION - 32
The following information is provided relating to the

acquiring company Efficient Ltd. and the target
Company Healthy Ltd.

Efficient Healthy
Ltd. Ltd.

No. of shares 10.00 lakhs 1.5 lakhs

(F.V.X 10 each)

Market capitalization 500.00 lakhs| 750.00 lakhs

P/E ratio (times) 10.00 5.00
Reserves and Surplus [300.00 lakhs| 165.00 lakhs
Promoter’s Holding 4.75 lakhs| 5.00 lakhs

(No. of shares)

Board of Directors of both the Companies have
decided to give a fair deal to the shareholders and
accordingly for swap ratio the weights are decided
as 40%, 25% and 35% respectively for Earning,
Book Value and Market Price of share of each
company:

(1) Calculate the swap ratio and also calculate
Promoter’s holding % after acquisition.



(11) What 1s the EPS of Efficient Ltd. after acquisition
of Healthy Ltd.?

(111) What is the expected market price per share and
market capitalization of Efficient Ltd. after
acquisition, assuming P/E ratio of Firm Efficient
Ltd. remains unchanged.

(1v)Calculate free float market capitalization of the
merged firm.

(SM, PM & Exam November - 2020)
(Page No. 61)



QUESTION - 34
Intel Ltd., promoted by a Trans National Company, is
listed on the stock exchange.

The value of the floating stock i1s X 45 crores. The
Market Price per Share (MPS) 1s X 150.

The capitalization rate is 20 percent.

The promoters holding is to be restricted to 75 per
cent as per the norms of listing requirement. The
Board of Directors have decided to fall in line to
restrict the Promoters’ holding to 75 percent by
issuing Bonus Shares to minority shareholders while
maintaining the same Price Earnings Ratio (P/E).

You are required to calculate:
(1) Bonus Ratio;
(11) MPS after 1ssue of Bonus Shares; and

(m)Free float Market capitalization after issue of
Bonus Shares

U V) MMMIS lioiir‘;% (Exan;PI\:ZZ ;I 20;2
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QUESTION - 53

Trupti Co. Ltd. promoted by a Multinational group
“INTERNATIONAL INC” is listed on stock exchange
holding 84% i.e. 63 lakhs shares.

Profit after Tax is X 4.80 crores.

Free Float Market Capitalization is X 19.20 crores.

As per the SEBI guidelines promoters have to restrict
their holding to 75% to avoid delisting from the
stock exchange. Board of Directors has decided not
to delist the share but to comply with the SEBI
guidelines by issuing Bonus shares to minority
shareholders while maintaining the same P/E ratio.

Calculate

(i) P/E Ratio

(11) Bonus Ratio o

(ii1))Market price of share before and after the issue
of bonus shares

(iv)Free Float Market capitalization of the company
after the bonus shares.

(Practice Manual) (Page No. 101)



QUESTION - 33
The equity shares of XYZ Ltd. are currently being

traded at X 24 per share in the market. XYZ Ltd. has

total 10,00,000 equity shares outstanding in number;
and promoters' equity holding 1n the company 1s

40%.
POR Ltd. wishes to acquire XYZ Ltd. because of
likely synergies. The estimated present value of f QR

these synergies is X 80,00,000.
Further POR feels that management of XYZ Ltd. has

been over paid. With better motivation, lower EFS = qél

salaries and fewer perks for the top management,

will lead to savings of X 4,00,000 p.a. Top No_ [go'om
management with their families are promoters of

XYZ Ltd. Present value of these savings would add MFS - <|0
30,00,000 1n value to the acquisition.

Following additional information 1s available rle = JO "Ie&
regarding POR Ltd.:

Earnings per share : X4
Total number of equity shares outstanding

15,00,000



| EI | U B:‘ e
Market price of equity share : X 40 (I) QX M " C ‘M Sﬂo}q_
Required: OH'PJ{ é : E r Q K

(1) What 1s the maximum price per equity share

which POR Ltd. can offer to pay for XYZ Ltd.? QGD 2
. | - . | 2% muM Ogbo< “2'\‘ 20 600T 1+ J0000TD
(11) What 1s the minimum price per equity share at

which the management of XYZ Ltd. will be willing ?’u (e jm 6CTO0
to offer their controlling interest?
(Study Material & PM) - I 35
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OUESTION - 35

Bank 'R' was established in 2005 and doing banking
in India. The bank is facing DO OR DIE situation.
There are problems of Gross NPA (Non Performing

Assets) at 40% & CWAR (Capital A<ceeuaecy

_Bad®/ Capital Risk Weight Asset Ratio) at 4%. The

net worth of the bank is not good. Shares are not
traded regularly. Last week, it was traded @X 8 per
share. RBI Audit suggested that bank has either to
liquidate or to merge with other bank.

Bank 'P' is professionally managed bank with low
gross NPA of 5%.It has Net NPA as 0% and CAR at
16%. Its share is quoted in the market @ X 128 per
share. The board of directors of bank 'P' has
submitted a proposal to RBI for take over of bank 'R’
on the basis of share exchange ratio.

The Balance Sheet details of both the banks are as
follows:



Bank ‘R’ | Bank ‘P’
Amt.inX ([Amt. InX
lacs lacs

Paid up share capital 140 500
(F.V.X 10 each)
Reserves & Surplus 70 5,500
Deposits 4,000 40,000
Other liabilities 890 2,500
Total Liabilities 5,100 48.500
Cash in hand & with RBI 400 2,500
Balance with other banks - 2,000
Investments 1,100 15,000
Advances 3,500 27,000
Other Assets 100 2,000
Total Assets 5,100 48.500

It was decided to 1ssue shares at Book Value of Bank
'P' to the shareholders of Bank 'R'. All assets and
liabilities are to be taken over at Book Value.

For the swap ratio, weights assigned to different
parameters are as follows:

Gross NPA 30%
CAR 20%
Market price 40%
Book value 10%




(@) What is the swap ratio based on above weights?
(b) How many shares are to be i1ssued?
(c) Prepare Balance Sheet after merger.

(d)Calculate CAR & Gross NPA 9% of Bank 'P' after
merger.

(Practice Manual)

(Page No. 66)



QUESTION - 36

During the audit of the Weak Bank (W), RBI has
suggested that the Bank should either merge with
another bank or may close down. Strong Bank (S)
has submitted a proposal of merger of Weak Bank
with itself. The relevant information and Balance

Sheets of both the companies are as under:

Particulars Weak | Strong |Assigned
Bank |Bank (5) Weights
(W) (“0)

Gross NPA (%) 40 5 30
Capital Adequacy Ratio S 16 28
(CAR)
Total Capital/ Risk
Weight Asset
Market price per Share 12 96 32
(MPS)
Book value 10
Trading on Stock Irregular | Frequent
Exchange

EsScC

Weak.

|50




x o113t Lo T, fuo R
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Balance Sheet

(X in Lakhs)

Particulars Weak Strong
Bank (W) Bank (S)
Paid up Share Capital 150 500
I- (X 10 per share)

Reserves & Surplus 80 5,500
Deposits 4,000 44,000
Other Liabilities 890 2,500
Total Liabilities 5,120 52,000
Cash in Hand & with RBI 400 2,500
Balance with Other Banks - 2,000
Investments 1,100 19,000
Advances 3,500 27,000
Other Assets 10 2,000
Preliminary Expenses 50 -
Total Assets 5,120 92,500

You are required to

(a)Calculate Swap ratio based on the above weights:

(b)Ascertain the number of Shares to be issued to

Weak Bank;

(c) Prepare Balance Sheet after merger; and
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(d)Calculate CAR and Gross NPA of Strong Bank
after merger.

(Study Material, PM & Exam May - 2018)
(Page No. 69)
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 NMaxiopum r:xchank RaHo
i [ Auq masumum I P15

A Ltd. wants to take over of B Ltd

ALtd. B Ltd. mm % 0”;- S‘Rw ‘PNCE /'?R"ﬁ-
No. of Share (10) 1,00,000 40,000 117. P?J- ]

EPS 15 ¢ %9

MPS 290 327 COI'D lnE l th gz
E;ET :15,00,000 2,60,000 wa 7‘ f E mPS

¢ + New Shor

(1) Maximum exchange ratio acceptable by A Ltd.

(11) Minimum exchange ratio acceptable by

shareholders of B Ltd. GG m
(Page No. 02) ’so.om "—3 X- b ] QSO
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QUESTION - 02
ABC Ltd. is intending to acquire XYZ Ltd. by way of

merger and the following information is available in
respect of these companies:

ABC | XYZ
Ltd. Ltd.
Total Earnings (E) (in lakh) X 1,200 %400

Number of outstanding shares (S) 400 200
(in lakh)
Price earnings ratio (P/E) 8 y{

(@) Determine the maximum exchange ratio
acceptable to the shareholders of ABC Ltd., if the

P/E ratio of the combined firm is expected to be
87

(b)Determine the minimum exchange ratio
acceptable to the shareholders XYZ Ltd., if the

P/E ratio of the combined firm is expected to be
10?

Note: Make calculation in lakh multiples and
compute ratio upto 4 decimal points.

(RTP May _ 2021)

(Page No. 05)
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QUESTION - 07

C Ltd. & D Ltd. are contemplating a merger deal in
which C Ltd. will acquire D Ltd. The relevant
information about the firms are given as follows:

C Ltd. |D Ltd.
Total Earnings (E) (in millions) 96| X 30
Number of outstanding shares (S) 20 14
(in millions)
Earnings per share (EPS) (X) 4.8| 2.143
Price earnings ratio (P/E) 8 7
Market Price per share (P) (R) 38.4 15

(1) What is the n}ﬁimgm exchange ratio acceptable
to the shareholders oif Ltd., if the P/E ratio of

the combined firm 1

(11)) What is the minimum exchange ratio acceptable

to the shareholders of D Ltd., if the P/E ratio of the
combined firm

(Exam November - 2018)
(Page No. 14)



QUESTION - 20

XYZ Ltd. wants to purchase ABC Ltd. by exchanging
of 1ts share for each share of ABC Ltd. Relevant

financial data are as follows:

Equity shares outstanding
EPS (R)
Market price per share (X)

10,00,000
40
250

4,00,000
28
160

companies.

merger foX ABC Ltd.?

e,

Ltd.?

\’@)’ﬁustrate the impact of merger on EPS of both the

/ii) The management of ABC Ltd. has quoted a share

exchange ratio of 1:1 for the merger. Assuming
——

that PZE ratio of XYZ Ltd. will remain unchanged

after the what will be the gain from

(111) What will be the gain/loss to shareholders @

(iv)Determine the @aximum exchange ratio

acceptable to shareholders pof XYZ Ltd.

(SM, Exam November - 2019 & Exam December -

2021)

(Page No. 37)



QUESTION - 25

Longitude Limited 1s In the process of acquiring
Latitude Limited on a share exchange basis.
Following relevant data are available:

Longitude | Latitude
Limited | Limited
A Profit after Tax (PAT) % in Lakhs 120 80 _
v,)(umber of Shares Lakhs 15 16 0 A Q )
\/,Earning per Share (EPS) R @ @
- w ice Earnings Ratio (P/E Ratio) 15 10
} (grore Synergy) 1206] €O
You are required to determine: 0 L' [ 69 , )

(1) Pre-merger Market Value per Share, and

@ he meximum exchange ratio Longitude Limited
&mk
1

EPS and

(2) Market Value per Share Calculate Ratio/s up
to 1our decimal points and amounts and
number of shares up to two decimal points.

(Study Material & PM)
(Page No. 45)



OUESTION - 06

C Ltd. and P Ltd. both companies operating in the C(f'd

same 1ndustry decided to merge and form a new 'P(fd
T

entity S Ltd. The relevant financial details of the two

companies prior to merger announcement are as EAT lom L 520.0 Lo

follows: —- N 0. /{OUD 1000

C Ltd. P Ltd.
Annual Earnings after Tax (X lakh) 10,000| 5,800 Ef’S 2 ) 50 5 ‘ 8 ©
No. Shares Outstanding (lakh) 4,000| 1,000 8 lo
PE Ratio (No. of Times) 8 10 (Y) rlE QILO

The merger will be affected by means of stock swap
(exchange) of 3 shares of C Ltd. for 1 share of P Ltd. m P S ? 20 §¥ 5\8

After the merger it 1s expected that due to synergy
effects, Annual Earnings (Post Tax) are expected to
be 8% higher than sum of the earnings of the two
companies individually. Further, it 1s expected that
P/E Ratio of S Ltd. shall be average of P/E Ratios of
two companies before the merger.

Evaluate the extent to which shareholders of P Ltd.
will be benefitted per share from the proposed
merger.

(MTP: April - 2021) (Page No. 12)
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OUESTION - 09

Reliable Industries Ltd. @ 1S cons
of Sunflower Industries Ltd.

takeover

particulars of 2 companies are given below:

@ The

Particulars

Reliable
Industries

Sunflower
Industries -
0-15

Equity shares O/s

PE Ratio (Times)

Earnings After Tax (EAT)

Earnings per share (EPS)

10,00,000

2_).——-—9@ 20
Required:

(1) What is the market value of each Company

before merger?

(ii) Assume that the management of RIL estimates
that the shareholders of SIL will accept an offer of
one share of RIL for four shares of SIL. If there are

_—-—-—-_.

o synergic effe

n - N
the Post-merge @
share? Are the sSHhec

what 1s the market value gf

What 1s the new price per
reholders of RIL better or

worse off than they were before the merger?



(11)Due to synergic effects, the management of RIL
estimates that the earnings will increase b

What are the new post-merger EPS and Price per

share? WﬂQ eholders be better off or
B

worse off tharmirefore the merger?

(Study Material & PM)
(Page No. 16)







QUESTION - 37

The following information is relating to Fortune India Ltd.
having two division, viz. Pharma Division and Fast Moving
Consumer Goods Division (FMCG Division). Paid up
share capital of Fortune India Ltd. is consisting of 3,000
Lakhs equity shares of Re. 1 each. Fortune India Ltd.
decided to de-merge Pharma Division as Fortune Pharma
Ltd. w.e.f. 1.4.2009. Details of Fortune India Ltd. as on
31.3.2009 and of Fortune Pharma Ltd. as on 1.4.2009 are
given below:

Particulars Fortune Fortune
Pharma |India Ltd.
Ltd. %)
)
Outside Liabilities
Secured Loans 400 lakh| 3,000 lakh
Unsecured Loans 2,400 lakh 800 lakh

Current Liabilities & Provisions | 1,300 lakh|21,200 lakh
Assets

Fixed Assets 7,740 lakh |20,400 lakh
Investments 7,600 lakh | 12,300 lakh
Current Assets 8,800 lakh | 30,200 lakh
Loans & Advances 900 lakh| 7,300 lakh

Deferred tax/Misc. Expenses 60 lakh| (200) lakh




Board of Directors of the Company have decided to issue @ Rat. 0 Ok $’ﬂ0}¥t£ | SSu Eq g‘t fo'( w
necessary equity shares of Fortune Pharma Ltd. of Re. 1

each, without any consideration to the shareholders of fh MM q H

Fortune India Ltd. For that purpose following points are to

be considered:

(a) Transfer of Luabilities & Assets at Book value. ESF ITIQM P AT - Q .tl'\ ‘:F v, (..QCA\
(b) Estimated Profit for the year 2009-10 is X 11,400 Lakh E SH'“I Q‘l'eq w\ F < = ; 2 11_ 5-0

for Fortune India Ltd. &X 1,470 lakhs for Fortune

Pharma Ltd. 8 S-‘—[m q"?(* f “E 2 5

(c) Estimated Market Price of Fortune Pharma Ltd. 1s X
24.50 per share.

(d) Average P/E Ratio of FMCG sector is 42 & Pharma
sector 1s 25, which 1s to be expected for both the
companies.

Calculate:

1. The Ratio i1n which shares of Fortune Pharma are to be
1ssued to the shareholders of Fortune India Ltd.

2. Expected Market price of Fortune India (FMCG) Ltd.

3. Book Value per share of both the Companies
immediately after Demerger.

(Study Material & PM)
(Page No. 72)









QOUESTION -40

Mr. X, a finapcigl analyst, intends to value the
business of in terms of the future cash
generating capacity. He has projected the followl]
after tax cash flows :

Year:
Cash flows (X in lakh)

It is further estimated that beyond 5" year, cash
flows will perpetuate at a constant growth rate of 8%
per annum, mainly on account of inflation. The
perpetual cash flow i1s estimag 10,260 lakh

at is the Mln terms of expected

fut e cash flows, cost of capital of the firm

(i1) The f1rm has outs g debts of X 3,620 lakh

h. Calculate

the shareholder value per share if the number of
outs tending shares 1s 151.50 lakh.

and




(1i1) The fir received a takeover bid from XYZ
Itd. o r share. Is it a good offer?

[Given: PVIF at 20% for year 1 to Year 5: 0.833,

0.694, 0.579, 0.482, 0.402]

= (Exam November — 2019)
———

(Page No. 79)



OUESTION - 42
Yes Ltd. wants to acquire No Ltd. and the cash flows of
Yes Ltd. and the merged entity are given below:

Year 1 2 3 < 5
Yes Ltd. 175 | 200 | 320 | 340 | 350
Merged Entity 400 | 450 | 525 | 590 | 620

Earnings would have witnessed 5% constant growth rate
without merger and 6% with merger on account of
economies of operations after 5 years in each case. The
cost of capital is 15%.

The number of shares outstanding in both the companies
before the merger 1s the same and the companies agree
to an exchange ratio of 0.5 shares of Yes Ltd. for each
share of No Ltd.

PV factor at 15% for years 1-5 are 0.870, 0.756; 0.658,
0.572, 0.497 respectively.

You are required to:

(1) Compute the Value of Yes Ltd. before and after
merger.

(11) Value of Acquisition and

(111) Gain to shareholders of Yes Ltd.
(Study Matenal & PM) (Page No. 82)
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QUESTION - 44
H Ltd. agrees to buy over the business of B Ltd. effective

1% April, 2012.The summarized Balance Sheets of H Ltd.
and B Ltd. as on 31 March 2012 are as follows:

Balance sheet as at 31 Maxrch, 2012
(In Crores of Rupees)

Liabilities: H. Ltd B. Ltd.
Paid up Share Capital

-Equity Shares of X100 each 350.00

-Equity Shares of X10 each 6.50
Reserve & Surplus 950.00 25.00
Total 1,300.00 31.50
Assets:

Net Fixed Assets 220.00 0.50
Net Current Assets 1,020.00 29.00
Deferred Tax Assets 60.00 2.00
Total 1,300.00 31.50

H Ltd. proposes to buy out B Ltd. and the following |O
information is provided to you as part of the scheme of F r/"ﬁ 30'0 -

izl ik &% €%

(a)The weighted average post tax maintainable profits of l 9 S..-l
H Ltd. and B Ltd. for the last 4 years are X 300 crores E 3:F\S-O

and X 10 crores respectively.



(b) Both the companies envisage a capitalization rate of GL/-Q
8%. I

O
(c) H Ltd. has a contingent liability of X 300 crores as on H
31st March, 2012.

(d) H Ltd. to 1ssue shares of X 100 each to the anw
shareholders of B Ltd. in terms of the exchange ratio

as arrived on a Fair Value basis. (Please consider

(8sF1Y (1071437 3)
) g

weights of 1 and 3 for the value of shares arrived on
Net Asset basis and Earnings capitalization method

% \
respectively for both H Ltd. and B Ltd.) B !! EI

You are required to arrive at the value of the shares of

both H Ltd. and ‘ S.

B Ltd. under: Faj,lV

!Qg.% X )!1—! 199-3|X3)
(1) Net Asset Value Method L'

-
(i) Earnings Capitalization Method = 156 3.5

(iii)Exchange ratio of shares of H Ltd. to be issued to the 1 56, 3§
shareholders of B Ltd. on a Fair value basis (taking EXC a' q{fo . —
into consideration the assumption mentioned in point 8?5'
4 above.)
[
(Study Material & PM) = (). ?8 T ']
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QUESTION - 46

AB Ltd., is planning to acquire and absorb the running
business of XY Ltd. The valuation 1s to be based on the
recommendation of merchant bankers and the
consideration 1s to be discharged in the form of equity
shares to be issued by AB Ltd. As on 31.3.2006, the paid
up capital of AB Ltd. consists of 80 lakhs shares of X10
each. The highest and the lowest market quotation during
the last 6 months were X570 and X430. For the purpose of
the exchange, the price per share i1s to be reckoned as
the average of the highest and lowest market price
during the last 6 months ended on 31.3.06.

XY Ltd.’s Balance Sheet as at 31.3.2006 1s summarized
below:

X lakhs
sSources
Share Capital
20 lakhs equity shares of X10 each fully paid 200
10 lakhs equity shares of X10 each, X5 paid 50
Loans 100
Total 350
Uses
Fixed Assets (Net) 150
Net Current Assets 200
350

® Volue ok Busginess
Disauted CA Techaiques
Vg = (05 %09+ (120%0-86) +

(125%0-73) + (120 x 0-F4) + (100 10 63)
t (200 X0-68) = X 532-40 (atha

Net ﬁsek




An independent firm of merchant bankers engaged for
the negotiation, have produced the following estimates of
cash flows from the business of XY Ltd.:

Year ended By way of X lakhs
31.3.07 after tax earnings for equity 105
31.3.08 do 120
31.3.09 Do 125
31.3.10 Do 120
31.3.11 Do 100

Terminal Value estimate 200

It 1s the recommendation of the merchant banker that the
business of XY Ltd. may be valued on the basis of the
average of (1) Aggregate of discounted cash flows at 8%
and (i1) Net assets value. Present value factors at 8% for
years

1-5: 0.93 0.86 0.79 0.74 0.68
You are required to:

(@) Calculate the total value of the business of XY Ltd.

(b) The number of shares to be issued by AB Ltd.; and

(c) The basis of allocation of the shares among the
shareholders of XY Ltd.

(Study Matenal)
(Page No. 90)

(B) No-of M to be jssued

Augferice of; Showe < ISP

© Yool dres )
fu\‘ﬁﬂi«\ Shaﬁd\aﬂm R4940% g5 )= 67392

orty baid P (8‘]?‘]07&353'*) . 16848







S'h)ck ﬁ?OQ §wgb ﬁaLO -0-5. 1

8oo6w + 133333
fost vogay ers = S0 s =178

'Fﬂ'st ('"9\30)(’“7?5= T F8%K |0 = LIF-80




UESTION - 49
Elrond Limited plans to acquire Doom Limited. The
relevant financial details of the two firms prior to the
merger announcement are:

Elrond Doom
Limited |Limited
Market price per share X380 X25
Number of outstanding shares 20 lakhs| 10 Lakhs

The merger 1s expected to generate gains, which
have a present value of X 200 lakhs. The exchange

ratio agreed to 1s 0.5.

What 1s the true cost of the merger from the point of
view of Elrond Limited?

(Study Materials & PM)
(Page No. 94)




QUESTION - 45
AFC Ltd. wishes to acquire BCD Ltd. The shares

e —

1ssued by the two companies are 10,00,000 and
5,00,000 respectively:

@)

Calculate the increase in the total value of BCD
Ltd. resulting from the acquisition on the basis of
the following conditions:

Current expected growth rate of BCD Ltd. 1%

Expected growth rate under control of AFC Ltd.,
(without any additional capital investment and
without any change in risk of operations) 8%

Current Market price per share of AFC Ltd. X 100
Current Market price per share of BCD Ltd. X 20
Expected Dividend per share of BCD Ltd. X 0.60

(11) On the basis of aforesaid conditions calculate the

gain or loss to shareholders of both the
companies, if AFC Ltd. were to offer one of its
shares for every four shares of BCD Ltd.

Afc RCD Y
NO. 1000000 50000

/
mps oo

% 0:-6o -D.l

(OM




(i0) Goin 07 fires dune 1o Moger

No-°\$ S‘\Mh e 18ued = (500w KZ'D: | 25000




(11)Calculate the gain to the shareholders of both th (ll‘! QQ‘“ [ m

Companies, if AFC Ltd. pays X 22 for each shar

of BCD Ltd., assuming the P/E Ratio of AFC Ltd. EAT ob BC D ; 1250000
does not change after the merger. EPS of AFC 600 600 ¥ 2.506
Ltd. 1s X 8 and that of BCD 1s X 2.50. It 1s assumed
that AFC Ltd. invests its cash to earn 10%. (_) OFP Cost ;’ 1 lmm
(Study Material & PM) 7
070 Xx22) NI070
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QUESTION - 01

Long Ltd., is planning to acquire Tall Ltd., with the
following data available for both the companies:

Long Ltd. Tall Ltd.
Expected EPS X 12 X5
Expected DPS X 10 X3
No. of Shares 30,00,000 18,00,000
Current Market Price of Share X 180 X580

As per an estimate Tall Ltd., is expected to have steady
growth of earnings and dividends to the tune of 6% per
annum. However, under the new management the growth
rate 1s likely to be enhanced to 8% per annum without
additional investment.

You are required to:

(1) Calculate the net cost of acquisition by Long Ltd., if X
60 is paid for each share of Tall Ltd.

(11) If the agreed exchange ratio is one share of Long Ltd.,
for every three shares of Tall Ltd., in lieu of the cash
acquisition as per (1) above, what will be the net cost
of acquisition?

(111)Calculate Gain from acquisition.

(Exam July - 2021) (Page No. 02)
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QUESTION - 51

P Ltd. i1s considering take-over of R Ltd. by the
exchange of four new shares in P Ltd. for every five
shares 1n R Ltd. The relevant financial details of the
two companies prior to merger announcement are
as follows:

P Ltd R Ltd

Profit before Tax (X Crore) 15 13.50
No. of Shares (Crore) 25 15
P/E Ratio 12 9

Corporate Tax Rate 307

You are required to determine:

(1) Market value of both the company.
(11) Value of original shareholders.
(11) Price per share after merger.

(iv)Effect on share price of both the company 1if the
Directors of P Ltd. expect their own pre-merger
P/E ratio to be applied to the combined earnings.

(Study Material & PM) (Page No. 97)
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QUESTION - 52
M/s. Vasavi Ltd. 1s considering the takeover of M/s. SKPD

Ltd. by the exchange of five new shares in M/s. Vasavi

Ltd. for every eight shares in M/s. SKPD Ltd. The relevant
financial details of the two companies prior to merger
announcement are as follows:

Particulars M/s. Vasavi | M/s. SKPD
Ltd. Ltd.
Profit before tax (X crore) 18 20.8
No. of shares (in crore) 20 18
P/E ratio 11 8

Corporate tax rate 30%.

You are required to determine:

a. Market value of both the companies
b. Value of original share holders

Price per share after merger

Q.

Effect on share price of both the companies. If the
directors of Vasavi Ltd. expect their own pre-merger
P/E ratio to be applied to the combined earnings.

(Exam May-2022)
ﬁ
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QUESTION - 39

ICL is proposing to take over SVL with an objective
to diversify. ICL’s profit after tax (PAT) has grown @
18 per cent per annum and SVL’s PAT is grown @ 15
per cent per annum. Both the companies pay
dividend regularly. The summarized Profit & Loss
Account of both the companies are as follows:

Xin Crores

Particulars ICL SVL
Net Sales 4,545 1,500
PBIT 2,980 720
Interest 750 25
Provisions for Tax 1,440 445
PAT 790 250
Dividends 235 125

ICL SVL

Fixed Assets
Land & Building (Net) 720 190
Plant & Machinery (Net) 900 350
Furniture & Fixtures (Net) 30| 1,650 10 850
Current Assets 175 580
Less: Current Liabilities
Creditors 230 130
Overdrafts 35 10




Provision for Tax 145 50
Provision for dividends 60 470 50| 240
Net Assets 1,955 890
Paid up share capital 250 125

(X 10 per share)

Reserve and Surplus 1,050 1,300 660| 785
Borrowing 655 105
Capital Employed 1,955 890
Market price share (X) 52 15

ICL’s Land & Buildings are stated at current prices.
SVL’s Land & Buildings are revalued three years
ago. There has been an increase of 30 per cent per
year in the value of Land & Buildings.

SVL is expected to grow @ 18 per cent each year,

after merger.

. r .
ICL’s Management wants to determine the premium

on the shares over the current market price which
can be paid on the acquisition of SVL.

You are required to determine the premium using:

(1) Net Worth adjusted for the current value of Land
& Buildings plus the estimated average profit
after tax (PAT) for the next five years.

J

@ Value pey Sfore

Net kol - 185
) Revoluabonin 148
C 130("30)%-190'}
[ 190%2.49F - 190) 227.43
Nek Kovths I 101243 O.
250 7; 3-153; T 38? 685""

\fa”b{f’kg\’t T 140011 (v
— No- o gh 12-T0 (~-
¥ 12




(11) The dividend growth formula.

(11)ICL will push forward which method during the
course of negotiations?

Period (1) 1 2 3 = S
FVIF (30%,t) |1.300| 1.690| 2.197| 2.856| 3.713
FVIF (15%,t) 1.15|2.4725|3.9938(5.7424 |7.7537 = _ ;“D

(Exam November - 2020)
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OUESTION - 48

M/s. Roly Ltd. wants to acquire M/s. Poly Ltd. The
following is the Balance Sheet of Poly Ltd. as on 31°'

March, 2020: ¢’

Liabilities X Assets X
Equity Capital | 10,00,000 | Cash 20,000
(X 10 per share) Debtors 50,000
Retained Earnings 3,00,000 |Inventories | 2,00,000
12% Debentures 3,00,000 |Plant & 16,50,000
Creditors and other 3,20,000 | Machinery
liability
Total 19,20,000 | Total 19,20,000

Shareholders of Poly Ltd. will get one share of Roly
Ltd. at current Market price of X 20 for every two
shares. External liabilities are expected to be settled
at a discount of X 20,000. Sundry debtors and

Inventories are expected to realize X 2,00,000.

Poly Ltd. will run as an independent unit. Cash Flow
After Tax is expected to be X 4,00,000 per annum for
next 6 years. Assume the disposal value of the plant
after 6 years will be X 1,50,000.

Poly Ltd. requires a return of 14%

@hchaae Coneiiea_cb‘on

%M[womx-; X20 = I {000 6VO

* Extendd QobiQlieq = <3000
(320670 - 20000)

Debe P& = X 300000
= 200000
20 (I

¢!




n 1 2 3 4 o) 6
PVIF 0.877 0.769 0.675 0.592 0.519 0.456
(14%, n)

Advise the Board of Directors on the financial
feasibility of the Proposal.

(Exam Jan-2021)
(Page No. 92)
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OUESTION - 41

M/s Tiger Ltd. wants to acquire M/s. Leopard Ltd.
The balance sheet of Leopard Ltd. as on 31st March,
2012 1s as follows:

Liabilities X Assets X
Equity Capital 7,00,000 |Cash 50,000
(70,000 shares) Debtors 70,000

Retained earnings | 3,00,000 |Inventories 2,00,000
12% Debentures 3,00,000 |Plants & Eqgpt. | 13,00,000
Creditors and other | 3,20,000
liabilities

16,20,000 16,20,000

Additional Information:

(1) Shareholders of Leopard Ltd. will get one share
in Tiger Ltd. for every two shares. External
liabilities are expected to be settled at X 5,00,000.
Shares of Tiger Ltd. would be issued at its current
price of X 15 per share. Debenture holders will
get 13% convertible debentures in the
purchasing company for the same amount.
Debtors and inventories are expected to realize X
2,00,000.



(11) Tiger Ltd. has decided to operate the business of
Leopard Ltd. as a separate division. The division
1s likely to give cash flows (after tax) to the extent
of X 5,00,000 per year for 6 years. Tiger Ltd. has
planned that, after 6 years, this division would be
demerged and disposed of for X 2,00,000.

(111)The company’s cost of capital is 16%.

Make a report to the Board of the company advising
them about the financial feasibility of this acquisition.

Net present values for 16% for X 1 are as follows:

Years 1 2 3 + 5 6
PV 0.862|0.743 | 0.641 | 0.552 | 0.476 | 0.410
(Study Materal & PM)
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OUESTION - 56

R Ltd. and S Ltd. operating in same industry are not
experiencing any rapid growth but providing a
steady stream of earnings. R Ltd.'s management is
interested 1n acquisition of S. Ltd. due to its excess
plant capacity. Share of S Ltd. is trading in market at
X 3.20 each. Other data relating to S Ltd. is as follows:
} Balance Sheet of S Ltd

Liabilities Amount (X) Assets Amount (X)

Current 1,59,80,000 | Current 2,48,75,000
Liabilities Assets

L?ng r.ﬂ.erm 1,28,00,000 S 94,00,000
Liabilities Assets

Reserve & Property

Surplus 2,79,95,000 Plants & 3,45,00,000
Share Capital 1,20,00,000 | Equipment

(80 Lakhs

sharesof X 1.5

each)

Total 6,81,75,000 | Total 6,87,75,000




. . 0 l*’linimu m Phuce Sha}&
Particulars R Ltd. (X) | S Ltd. (X) | Combined
Entity (X) \,
= 2 r &QU{S
Profit after Tax 86,50,000|49,72,000/|1,21,85,000 Cum?ﬂt Mfg :G' 3 S Fl 00X
oo 600

Residual Net Cash 91,10,00054,87,000(1,85,00,000 _ 21395 1- ‘20 0o - qg
Flows per year WPS = 80 1 JOLCAN -
Req}ﬁred return on 13.75% | 13.05% 12 5%
equity

You are required to compute the following:

(1) Minimum price per share S Ltd. should accept
from R Ltd.

(11) Maximum price per share R Ltd. shall be willing
to offer to S Ltd.

(in1)Floor Value of per share of S Litd., whether it shall
play any role in decision for its acquisition by R
Ltd.

(Exam May - 2019)
(Page No. 105)
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OUESTION -41 §'|mge
Simple Ltd. and Dimple Ltd. are planning to merge.)

The total value of the companies are dependent on
the fluctuating business conditions. The following

information is given for the total value (debt + D

equity) structure of each of the two companies. H'ah 820 [_I 6 0
Business Probability | Simple Ltd. | Dimple Ltd.
Condition X Lacs X Lacs L“

High Growth 0.20 820 1050 e m S 50 6 o

Medium Growth 0.60 550 825

Slow Growth 0.20 410 590 I(ﬂk) | O l 0O 0O

The current debt of Dimple Ltd. is X 65 lacs and of
Simple Ltd. is X 460 lacs.

Calculate the expected value of debt and equity E} oC \I D L‘Go xo .l- LlGO }(0 6)

separately for the merged entity.

(Study Material & PM) ‘HO X D- 2) = 4'50
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QUESTION - 28

Snake Ltd. is taking over Lizard Ltd, both are
listed companies. The PE Ratio of Lizard Ltd. has
been low as 4 and high as 7 and is currently S.
Lizard Ltd.’s previous year EPS was X 3.40 and
current expected EPS this year to be X 4.00.

Determine the different range of values of shares
using P/E Model.

(MTP: Nov —-2021)
(Page No. 52)



QUESTION - 28

ABC Company is considering acquisition of XYZ
Ltd. which has 1.5 crores shares outstanding and
issued. The market price per share i1is X 400 at
present. ABC's average cost of capital is 12%.
Available information from XYZ indicates its

expected cash accruals for the next 3 years as

follows:
Year X Crore
] 250
2 300
3 400

Calculate the range of valuation that ABC has to
consider. (PV factors at 12% for years 1 to 3

respectively: 0.893, 0.797 and 0.712).
(SM, PM & MTP April - 2021)

(Page No. 42)
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QUESTION - 33

The following is the Balance-sheet of Grape Fruit
Company Ltd as at March 31%, 2019.

. w eqess R in R in
Liabilities lakhs) Assets lakhs)
Equity shares of 100 | 600 |Land and 200
each Building
14% preference 200 |Plantand 300
shares of ¥ 100/- each Machinery
13% Debentures 200 |Furniture and 50
Fixtures
Debenture interest 26 |Inventory 150
accrued and payable
Loan from bank 74 |Sundry debtors 70
Trade creditors 340 |Cash at bank 130
Preliminary 10
expenses
Cost of issue of 5
debentures
Profit and Loss 525
account
1440 1440




The Company did not perform well and has suffered
sizable losses during the last few years. However, it
i1s felt that the company could be nursed back to
health by proper financial restructuring.
Consequently the following scheme of
reconstruction has been drawn up:

(1) Equity shares are to be reduced to X 25/- per
share, fully paid up;

(11) Preference shares are to be reduced (with
coupon rate of 10%) to equal number of shares of
X 50 each, fully paid up.

(1i1)Debenture holders have agreed to forgo the
accrued interest due to them. In the future, the

rate of interest on debentures i1s to be reduced to
9 percent.

(1v)Trade creditors will forego 25 percent of the
amount due to them.



(v) The company 1ssues 6 lakh of equity shares at
25 each and the entire sum was to be paid on
application. The entire amount was fully
subscribed by promoters.

(vi)Land and Building was to be devalued at X 450

lakhs, Plant and Machinery was to be written
down by X 120 lakhs and a provision of 215 lakhs

had to be made for bad and doubtful debts.
Required:

(a) Show the impact of financial restructuring on the
company’s activities.

(b) Prepare the fresh balance sheet after the
reconstructions is completed on the basis of the
above proposals.

(Practice Manual)
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QUESTION - 30 _ -+ |
The Nishan Ltd. has 35,000 shares of equity stock ¢ De‘ot canmt Inh E ||E

outstanding with a book value of Rs.20 per share. It

owes debt X 15,00,000 at an interest rate of 12%. QQ& = j5000Uo 7‘73 = ; 1000 TN

Selected financial results are as follows.

Income and Cash Flow Capital Nw NO . Ok Qm s L - ggaoo
EBIT X 80,000 |Debt |X 15,00,000 ‘: 20
Interest 1,80.000 | Equity 7,00,000 _F{ 4 OQ F
EBT (X 1,00,000) X 22,00.000 nq‘\Cl .Ifo ac
Tax 0
EAT (x 1,00,000) €E_/1IT 80'“"’ Deb t 500 0L
Depreciation % 50,000 .
Principal Repayment (X 75.000) (_) -ln H. ebm E t"‘/ l:me
Cash Flow (i 1.25 DUU) (Em“ - )
Restructure the financial line items shown assuming Ea

a composition in which creditors agree to convert ®
two thirds of their debt into equity at book value. ("") T‘Q‘x@ lﬁ
Assume Nishan will pay tax at a rate of 15% on E AT
income after the restructuring, and that principal

repayments are reduced proportionately with debt. +) t
Who will control the company and by how big a ( _a ﬁ a‘rm'n

margin after the restructuring? m

(Practice Manual) (Page No. 495) [
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QUESTION - 40

ABC, a large business house is planning to sell its
wholly owned subsidiary KLM. Another large
business entity XYZ has expressed its interest in
making a bid for KLM. XYZ expects that after
acquisition the annual earning of KLM will increase
by 10%.

Following information, ignoring any potential
synergistic benefits arising out of possible
acquisitions, are available:

(1) Profit after tax for KLM for the financial year
which has just ended is estimated to be X 10
crore.

(11) KLM's after tax profit has an increasing trend of
1% each year and the same 1s expected to
continue.

(1i1)Estimated post tax market return is 10% and risk
free rate 1s 4%. These rates are expected to
continue.




(1v) Corporate tax rate is 30%.

XYZ ABC Proxy
entity
for KLM
in the
same
line of
business
No. of shares 100 lakhs |80 lakhs --
Current share price X 287 X375 --
Dividend pay out 40% 50% 50%
Debt : Equity at market 1:2 1:3 1:4
values
P/E ratio 10 13
Equity beta ] 1.1

Assume gearing level of KLM to be the same as for
ABC and a debt beta of zero. You are required to

calculate:

(a) Appropriate cost of equity for KLM based on the
data available for the proxy entity.

(b) A range of values for KLM both before and after
any potential synergistic benefits to XYZ of the

acquisition.

(Practice Manual) (Page No. 67)
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Question - 33

Personal Computer Division of Distress Ltd., a computer hardware
manufacturing company has started facing financial difficulties for
the last 2 to 3 years. The management of the division headed by
Mr, Smith is interested in a buyout on 1 Apnl 2013. However, to
make this buy-out successful there is an urgent need to attract
substantial funds from venture capitalists.

Ven Cap, a European venture capitalist firm has shown its interest
to finance the proposed buy-out. Distress Ltd. is interested o sell
the division for ¥ 180 crore and Mr. Smith is of opinion that an
additional amount of ¥ 85 crore shall be required to make this
division viable. The expected financing pattern shall be as follows:

Source Mode Amount
(X Crore)
Management Equity Shares of ¥ 10 each 60.00
VenCap VC Equity Shares of ¥ 10 each 22.50
9% Debentures with attached warrant of 22.50

% 100 each
8% Loan 160.00
Total 265.00

The warrants can be exercised any time after 4 years from now for
10 equity shares @ % 120 per share.

The loan is repayable in one go at the end of 8" year. The
debentures are repayable in equal annual installment consisting of
both principal and interest amount over a period of 6 years.

Mr. Smith is of view that the proposed dividend shall not be kept
more than 12.5% of distributable profit for the first 4 years. The
forecasted EBIT after the proposed buyout is as follows:

PRI AN



Year 2013-14 | 2014-15 | 2015-16 | 2016-17
EBIT (R Crore) 48~ 57 v 68\ 82 v

Applicable tax rate is 35% and it is expected that it shall remain
unchanged at least for 5-6 years. In order to attract VenCap, Mr.
Smith stated that book value of equity shall increase by 20% during
above 4 years. Although, VenCap has shown their interest in
investment but are doubtful about the projections of growth in the
value as per projections of Mr. Smith. Further VenCap also
demanded that warrants should be convertible in 18 shares
instead of 10 as proposed by Mr. Smith.

You are required to determine whether or not the book value of
equity is expected to grow by 20% per year. Further if you have
been appointed by Mr. Smith as advisor then whether you would
suggest to accept the demand of VenCap of 18 shares instead of 10
or not.

(Practice Manual)
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